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QUESTION 1

Which of the following does NOT make a view a read-only view? 

A. The outer fullselect contains a GROUP BY clause. 

B. The first SELECT clause specifies the keyword DISTINCT. 

C. The only table referenced is a system maintained temporal table and a period-specification is specified. 

D. Any FROM clause, after the first, identifies more than one table or view, or identifies a table function, a nested table
expression, or a common table expression. 

Correct Answer: D 

 

QUESTION 2

How do you enable parallelism in a dynamic SQL statement? 

A. BIND with DEGREE(1) 

B. BIND with DEGREE(ANY) 

C. Use SET CURRENT DEGREE = ANY 

D. Use SET CURRENT DEGREE = \\'1\\' 

Correct Answer: C 

 

QUESTION 3

When is a merge scan join a well performing access path? 

A. When the number of qualifying rows of the inner and outer table are both large. 

B. When the query references at least two dimensions and the STARJOIN subsystem parameter is 1. 

C. When the number of rows in the outer table is small and the number of pages accessed in the inner table is small. 

D. When the matching columns of the inner table are in a non-clustering index or the outer table has duplicate qualifying
rows. 

Correct Answer: A 

 

QUESTION 4

You have to design a numeric column, which is also the primary key. The column should cover large (i.e.,
123456789012345678) numbers. Which column data definition covers the requirements? 
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A. BIGINT 

B. INTEGER 

C. DECFLOAT (34) 

D. DECIMAL (31,18) 

Correct Answer: A 

 

QUESTION 5

Which DB2 performance feature is designed specifically to reduce the number of indexes that need to be created? 

A. Inline LOBs. 

B. Include columns. 

C. Hash row access. 

D. Direct row access. 

Correct Answer: B 
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